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Little Quilt 00000000 (1), (2),(3)000000000000a, b, turn,
sew10000000000000000 LittleQuitO0O0O0O0000 (letO Oval
O00fn00)00000000000000000

e o bUI 1, 0200000000

U l:ad0d0ood U 2.pv0ggboood

e turn (e) : OO el OUDO0ODO0ODOOODODOO

e sevw (e, €2) : 00000000 e, e,0000000000000000
000 (00 ;000 )0

(1) sew (turn (turn (b)), a)

X

(2) let
val x = turn (b)
in
sew (x,x)
end
(3) let

fun unturn (x) turn (turn (turn (x)))

fun pile (x,y) = unturn (sew (turn (y), turn (x)))
val aa = pile (a, turn (turn (a)))
val bb = pile (unturn (b), turn (b))

in
sew (aa, bb)

end
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(1) godooooopoooobpoogoooouoono
if x>0 then x (= x - 1

else if y>0 then y =y - 1
elsey :=y + 1

DD x:=x-1

(2) COO0DO0O0UO0DOODOOOOOOUOOODOoOO

while x>0 do

begin
if x=3 then
begin
X :=x - 1;
continue
end;
y =y +1
x :=x -1
end
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x:=x-1
L
y:=y+l
x:=x-1
|

0 3 00O Hoare triple(1), (2)000000000000000OO0O0OO

(1) {a=3}a:=a+1{a=4}

a=3=a+1=4 {at+1=4}a:=a+1{a=4} (assign)

{a=3}a:=a+1{a=4}

a=4=a=4

(conseq)

gbobogbodbobobbudibiblde=4=ae=40000 =000
gogbbobuoooobbobuoooobboboodan

a=3=a+1=4 {a+1:4}a:=a+1{a:4} (aS81gn)

{a=3}a:=a+1{a=4}

(conseq)

(2) {a=3}a:=a+1l;a:=a+2 {a=06}

(assign) (assign)

a=3=a+1=4 {a+1=4}a:=a+1{a=4} a=4=a+2=6 {a+2=6}a:=a+2{a=06}
{a=3}a:=a+1{a=4} {a=4}a:=a+2 {a =6}
{a=3}a:=a+1l;a:=a+2 {a=6}

(conseq) (conseq)

(composition)

00000002000 consequencerule 000000 00a=4=a=4
ae=6=ae¢=6000000
(3) {x =5} whilez >0doz:=x—1 {z =0}
O00000o0oboOo200000000000
0000000000

z=5=>z>0 {zx>0}whilez>0doz:=2—1{z>0A-2>0} z>0A-2>0=>z2=0
{z =5} whilez >0do z:=2z—1 {& =0}

(conseq)

r20Ae>0=>2-120 {z—-1>0}z:=z—1{z >0} (psslgn)

{r>0Az>0} z:=2—1{zx >0}
{r>0}whilez>0doz:=2—-1{z>0A-2z>0}

r>0=x2>0

(conseq)

(while)



googgoobibbbDz>0=2>00000 =0000000000
ggbbobouoobbbooogb

P2 0025052120 (a-120p s —a—1{zz0} 5

{r>0N2z >0} z:=2—1{z >0}
{r >0} whilexz>0doz:=2—-1{x>0A-z>0}

(conseq)
(while)

00000000 O assignment axiom [ assign, consequence rule [ conseq, while
rule 0 while, composition rule I composition 0 OO O O O O

04 OO0 Pascal OO DOOODOO0ODOO0ODOOODOOODODODODODODOO

O0var0000O0O0O0O0Ocall by reference0 0000000 Owritelnd 00O
ooooooooood

program test; begin
var x : integer; x := 3;
var y : integer; y = 4;
procedure swap swap (x,y);
(var x: integer; writeln (x);
var y : integer); writeln (y)
var z : integer; end.
begin
Z :=X; X !=y; y =2
end;
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05 OO0 Pascal UDODODODOOODDOODODOODODOOODUOODOPascalbOn
00000000 (scope) DO0DODODO staticscope DO OOODOOOOOO0

program P; procedure D; begin
var n : char; var n : char; n :=’L°;
procedure W; begin W;
begin n :=’D’; D
writeln(n) W end.
end; end;
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06 00O (1),(2)0000000000000ODOO0OOOOOOOOOOOOO
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00000000CO0000000000000000oO0oooooooOMO(?)
O0000000000000000000 0=A{(X%,3),(Y,1),(Z,0)} 0000
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(1) 2

<2,0 >— 2
oodooode0noooObO0OUO0O 2000000000 20000

(2) ((2+3)*X)
<2,0>—2 <3,0>—3
<(243),0>—5 <X0>—>3
<((243)*X),0 >—> 15

Ooobobboso00OO0DOO0OObOO0O ((2+3)«xx) 000000000 150
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